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(A) (B) (A-B)
FAYT T 27 61 88 86 2
e T 11 21 32 31 1
Efi 17 29 46 47 -1
2 FH T 10 18 28 28 0
KHTH 3 11 14 14 0
LR 6 11 17 17 0
PARE 435 6 10 16 16 0
Ergihi 10 13 23 23 0
(i &h) 90 174 264 262 2
B ZEHT 2 8 10 12 -2
=ZFE) 2 8 10 12 -2
£ e T 2 4 6 6 0
(ARARR) 2 4 6 6 0
JIASHT 1 1 2 2 0
FEHRHT 3 2 5 5 0
= g AT 8 13 21 21 0
(=R 12 16 28 28 0
JELF T HT 2 6 8 8 0
BT 1 0 1 1 0
(EE 2 RR) 3 6 9 9 0
T 1 0 1 1 0
7a / EHT 0 0 0 0 0
FRAS 1 0 1 1 0
fRlz o> J5 T 2 4 6 6 0
=0T 4 4 8 8 0
(BTATED) 23 38 61 63 -2
(TETRIE) 113 212 325 325 0




